ey npTrT———— 7
fﬁ;iH,m?%A*%$F$TH;~

o ZA 5' b £ SR
e X : ,%’9661‘54 » 584 %
: o EEIFFEID 533w oo B - B4 K[


https://www.jctv.ntut.edu.tw/caac/
https://www.jctv.ntut.edu.tw/caac/



https://www.jctv.ntut.edu.tw/caac/
https://www.jctv.ntut.edu.tw/caac/

S5 RR i B R RR I AR E

AEERONSNEHeRABRAREERS |
11 % i ji2 B HEE U EHI R e AR S I+

[FrEEREE ]
111.05.20 SEFHFASIE SH23E [HREGHE : 214001% (3H) - SMEEM : R TERHSHRE] .

111.05.20 EAEHHARREIMNME SHL2F (R 0 239007% (38) - =i mEeNE] ¥


https://www.jctv.ntut.edu.tw/caac/
https://www.jctv.ntut.edu.tw/caac/

Lesson 01

77 ) R B SR R S A B A 4R

() - 2EER () - BRFE&ET SR EHR

ERREAER

B&(8) BEAE | o

HHERGHAERTIRETSHIER

SRNEERIR £ RBER
MaERAt A F9EE S S EE ;z:

#E EE |EEEEESEREE SEEEREENEE 90%

218001

B 37 ERGENREMETIgME 10%
EvSnEniBnsE _
=X TSR EBE _

BERE

BIZA

FERE_"_RER =R TE
waEA siakiE .

HEE LEEREEE
SEEEEEENR 111.05.12
SEHIEAM

F_FEEREsHR

FEmSENOE 111.05.27

miaEREEIFAM 111.05.30

nEENAERM 111.06.01

2o REE

AR
HBEEEEEEERESTERLE  FREEEEZE  —EETLEEEAEE (PDFE)

B.EEZErS : B-1B8-2B-4

C Zmx=IR - C-1,C-2,C-3,C-4,C-5C-7,C-8

D1 ZTEREELE

D2EEEEREN (2ZEEERE 838  FREEFSETERE)

D-3EMEFEEEH

SEEH (EEEEFLEER)



https://www.jctv.ntut.edu.tw/caac/
https://www.jctv.ntut.edu.tw/caac/

Lesson 01

L7 ) R AR B R TR S B S A B A 4B

#(#) - BEER (#) - BERemN SEH

 EERITAS
. 408284=E ML EEFE1E
: hittps /v [tu. ed it
+ (04)23892 48
© (04)23340208
HF%A . E =
Bi4EESE - (0f23892088#1621
EEREE—W(H) - 22 : F

218003 =5 26(8)

EREXEH



https://www.jctv.ntut.edu.tw/caac/
https://www.jctv.ntut.edu.tw/caac/

v O RERbE BRI SRS RS A2 A 1EE Q




v (O R B RIRR I S B A A 2R A

Bt Q

4 \

L

a .
x< &
N v v/

N

1 4 -] = N ———
FhiEE 110, #ETERY > HBXPDFIEEE
217004 |E24)ERRl4E K ER ZIRFEREET &
217005 |E2A0ERI K BB B R R &
218001 [ZEERAIFHAKE BPR R £
218002 [sEERMIFTAE HNIEEEET &
218003 [ZERBIFHAE SIEESES
219%01 |PEIRHIEAS TARERHK A (EERE )
2 PEIRER AR Mm% (2R E )
5 | BRI KR B 1A (EERKE )
NnA b FRLES + B3 ABERERIELEH 2 ( FRMASTE )

=

JF




e A RERPE B B E S| A B aiEE Q

#e BEES INELBIER S

EipY4 3 10

== vg 1 7




v O RERE BRI ERuaE S RS A2 A 1EE Q

H{EEREN D -
#£8 B E¥E INEEBIAR
_(pn&E) BlB4ka * BlE#EEE *100 %
7 . 10 15 * REEAEE
T 1 7

__(3*10) + (1*/7)__*100 %
*(3+1)
=01.6

g PR EBER B D A RARSRIARE )

o0/ 0>




w8 BB FEEERET I

FEEEZGRAYN=E

2 Q

®

BiZ#ElK | FALEK BIEX | FAILEK
B& | 133 380 KA 70 343

= io & v £
S aatt]|(94.33%) | 85.78% TRAEFRERERR aat| 49.65% | 77.43%
A 110 272 E 67 332

L= [=] £23 « ES
R AF{Fom BEatt| 78.01% | 61.40% 75555 8 A B Bott| 47.52% | 74.94%
B AR EALEIETe | BRAR 81 166 22 3r =30 BR#& 112 325
ZERE |m91| 57.45% | 37.47% e a5att| 79.43% | 73.36%
HEEEERE | BR 23 392 ey | BR 62 225
BERE |[E9H| 16.31% N.88.49% AL R{Em aatt| 43.97% | 50.79%
EhgTas SER 96 279 i 25 BR# 110 273
SHEMR  |[E5t| 68.09% | 62.98% ke matt| 78.01% | 61.63%
N 83 |, 384~ ED 102 353

F|: IR0
AR A aatt| 58.87% 26.6804_6. Rk R RRGE o] 72.34% | 79.68%

|
\\@







I
000 -

{ RERBEEIRSE
2. 7| R IR AR
3. RlARstEHRY




